# Vol.8.Issue.4.2020 (Oct-Dec) ©KY PUBLICATIONS



http://www.bomsr.com Email:editorbomsr@gmail.com

**RESEARCH ARTICLE** 

# BULLETIN OF MATHEMATICS AND STATISTICS RESEARCH

A Peer Reviewed International Research Journal



# STIRLING'S NUMBERS AND SUMMATION

## Dr. R. SIVARAMAN

Associate Professor, Department of Mathematics, D. G. Vaishnav College, Chennai, India National Awardee for Popularizing Mathematics among masses Email: <u>rsivaraman1729@yahoo.co.in</u>, <u>sivaraman@dgvaishanvcollege.edu.in</u> DOI: 10.33329/bomsr.8.4.95



## ABSTRACT

Among several class of interesting numbers that exist in mathematics, Stirling's numbers play significant role since they occur in variety of combinatorial situations and counting problems. In this paper, I formally introduce Stirling's numbers of second kind and connect them with falling factorial polynomials. With this result as aid, I derived a nice closed expression for summing powers of natural numbers.

Keywords: Stirling's numbers of second kind, Recurrence Relation, Falling Factorial Polynomial, Mathematical Induction, Pascal's Identity

## 1. Introduction

The two kinds of Stirling's numbers were named after Scottish mathematician James Stirling. Stirling's numbers of second kind were related to counting number of partitions of a given finite set in to disjoint parts. In this paper, I connect Stirling's numbers of second kind with falling factorial polynomials and prove an important theorem leading us to connect Stirling's numbers with determining sum of *m*th powers of first *n* natural numbers.

## 2. Definitions

## 2.1 Stirling's Numbers of Second Kind

The number of partitions of a set with *m* elements using *n* non-empty disjoint subsets is defined as

```
the Stirling's numbers of second kind denoted by S(m,n) or \binom{m}{n}. We notice that 1 \le n \le m.
```

The Stirling's numbers of second kind satisfies the recurrence relation

 $S(m+1,n) = S(m,n-1) + n S(m,n) \quad (2.1)$ 

For proof of (2.1),see **[5]** by the corresponding author. Using (2.1) and the fact that S(m,1) = S(m,m) = 1, we can form a tabular column containing Stirling's numbers of second kind as shown below:

<u> </u>	1	2	3	4	5	6	7
m							
1	1						
2	1	1					
3	1	3	1				
4	1	7	6	1			
5	1	15	25	10	1		
6	1	31	90	65	15	1	
7	1	63	301	350	140	21	1

#### Figure 1: Stirling's numbers of second kind

#### 2.2 Falling Factorial Polynomial

The Falling Factorial Polynomial is defined by

$$x^{(m)} = x(x-1)(x-2)\cdots(x-(m-2))(x-(m-1)), \ m \ge 0, \ x^{(0)} = 1 \ (2.2)$$

We notice from (2.2) that if  $m \ge 1$  then  $x^{(m)}$  is a polynomial in x of degree m whose roots are 0, 1, 2, ..., m - 2, m - 1. For example,  $6^{(4)} = 6 \times 5 \times 4 \times 3 = 360$ .

We will now prove the following important theorem.

#### 3. Theorem 1

For all integers,  $m \ge 1$ ,  $x^m = \sum_{n=1}^m S(m,n)x^{(n)}$  (3.1) where  $x^{(n)}$  is the falling factorial polynomial

defined in (2.2) and S(m, n) are Stirling's numbers of second kind.

**Proof**: The proof is provided by Induction on *m*. If m = 1, then  $x^m = x$  and  $\sum_{n=1}^{1} S(1,n)x^{(n)} = S(1,1)x^{(1)} = 1 \times x = x$ . Hence (4.1) is true if m = 1. We will assume that the result up to *m* and try to prove for m + 1.

Using the fact that the result is true up to *m*, we have

$$x^{m+1} = x^m \times x = \left(\sum_{n=1}^m S(m,n)x^{(n)}\right) \times x = \sum_{n=1}^m S(m,n)\left(x^{(n)}x\right)$$
(3.2)

Since x = (x - n) + n, from (2.2) we have

$$x^{(n)}x = x^{(n)}((x-n)+n) = x^{(n)}(x-n)+nx^{(n)} = x^{(n+1)}+nx^{(n)}$$

Substituting this in (3.2), we get 
$$x^{m+1} = \sum_{n=1}^{m} S(m,n) x^{(n+1)} + \sum_{n=1}^{m} S(m,n) n x^{(n)}$$

Altering the summation variable in the first summation and using the fact that S(m,1) = S(m,m) = 1 and using (2.1), we get

$$\begin{aligned} x^{m+1} &= \sum_{n=2}^{m+1} S(m,n-1) x^{(n)} + \sum_{n=1}^{m} S(m,n) n x^{(n)} \\ &= S(m,m) x^{(m+1)} + \sum_{n=2}^{m} S(m,n-1) x^{(n)} + \sum_{n=2}^{m} S(m,n) n x^{(n)} + S(m,1) x^{(1)} \\ &= x^{(m+1)} + \sum_{n=2}^{m} \left[ S(m,n-1) + n S(m,n) \right] x^{(n)} + x^{(1)} \\ &= S(m+1,m+1) x^{(m+1)} + \sum_{n=2}^{m} \left[ S(m+1,n) \right] x^{(n)} + S(m+1,1) x^{(1)} \\ &= \sum_{n=1}^{m+1} S(m+1,n) x^{(n)} \end{aligned}$$

Thus the result is also true for m + 1. Hence by induction principle, the result is true for all integers m such that  $m \ge 1$ . This proves (3.1) and completes the proof.

Using theorem 1, we now prove the following important theorem.

#### 4. Theorem 2

For all positive integers k and m, we have  $k^m = \sum_{n=1}^m \binom{k}{n} n! S(m,n)$  (4.1) where  $\binom{k}{n}$  is the

binomial coefficient and S(m,n) are Stirling's numbers of second kind.

**Proof**: In (3.1), if we substitute x = k then we have

$$k^{m} = \sum_{n=1}^{m} S(m,n)k^{(n)} = \sum_{n=1}^{m} S(m,n)k(k-1) \times \dots \times (k-(n-2)) \times (k-(n-1))$$
$$= \sum_{n=1}^{m} S(m,n) \times \frac{k!}{(k-n)!} = \sum_{n=1}^{m} n! S(m,n) \times \frac{k!}{n! \times (k-n)!} = \sum_{n=1}^{m} \binom{k}{n} n! S(m,n)$$

This completes the proof.

We now determine a closed expression for sum of *m*th powers of first *t* natural numbers.

#### 5. Theorem 3

$$1^{m} + 2^{m} + \dots + t^{m} = \sum_{n=1}^{m} {\binom{t+1}{n+1}} n! S(m,n) \quad (5.1)$$

**Proof**: From (4.1) of theorem 2, we have  $k^m = \sum_{n=1}^m \binom{k}{n} n! S(m,n)$ 

Now considering k = 1, 2, ..., t and summing we have

. .

$$\begin{split} 1^{m} + 2^{m} + \dots + t^{m} &= \sum_{n=1}^{m} \binom{1}{n} n! S(m, n) + \sum_{n=1}^{m} \binom{2}{n} n! S(m, n) + \dots + \sum_{n=1}^{m} \binom{t}{n} n! S(m, n) \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{1}{n} + \binom{2}{n} + \dots + \binom{n-1}{n} + \binom{n}{n} + \binom{n+1}{n} + \binom{n+2}{n} + \binom{n+3}{n} \\ &+ \dots + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} 0 + 0 + \dots + 0 + \binom{n+1}{n+1} + \binom{n+1}{n} + \binom{n+2}{n} + \binom{n+3}{n} + \dots + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{n+2}{n+1} + \binom{n+2}{n} + \binom{n+3}{n} + \dots + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{n+2}{n+1} + \binom{n+3}{n} + \dots + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{n+3}{n+1} + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} = \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{t+1}{n+1} + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{t+4}{n+1} + \dots + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} = \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{t-1}{n+1} + \binom{t-1}{n} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{t}{n+1} + \binom{t}{n} \end{bmatrix} = \sum_{n=1}^{m} n! S(m, n) \binom{t+1}{n+1} \end{pmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \begin{bmatrix} \binom{t}{n+1} + \binom{t}{n} \end{bmatrix} = \sum_{n=1}^{m} n! S(m, n) \binom{t+1}{n+1} + \binom{t}{n} \end{bmatrix} = \sum_{n=1}^{m} n! S(m, n) \binom{t+1}{n+1} + \binom{t}{n} \end{bmatrix} \\ &= \sum_{n=1}^{m} n! S(m, n) \binom{t}{n+1} + \binom{t}{n} = \sum_{n=1}^{m} n! S(m, n) \binom{t+1}{n+1} + \binom{t}{n+1} = \sum_{n=1}^{m} n! S(m, n) \binom{t+1}{n+1} = \sum_{n=1}^{m} m! S(m, n) \binom{t$$

This is (5.1). Notice that we have applied Pascal's identity of binomial coefficients repeatedly to obtain the above equations. In particular the sum  $\binom{1}{n} + \binom{2}{n} + \dots + \binom{t-1}{n} + \binom{t}{n} = \binom{t+1}{n+1}$  can be

obtained through the famous Hockey Stick Identity of the binomial coefficients present in Pascal's triangle.

This completes the proof.

6. We can see few illustrations explaining the closed expression obtained in (5.1) of theorem 3. We can first rewrite the (5.1) as in the following way for convenience.

$$1^{m} + 2^{m} + \dots + n^{m} = \sum_{r=1}^{m} \binom{n+1}{r+1} r! S(m,r) \quad (6.1)$$

From (6.1), we can determine the sum of *m*th powers of first *n* natural numbers through binomial coefficients, factorials and Stirling's numbers of second kind.

For example, the sum of first *n* natural numbers is obtained by taking m = 1 in (6.1)

$$1+2+\dots+n = \sum_{r=1}^{1} \binom{n+1}{r+1} r! S(1,r) = \binom{n+1}{2} S(1,1) = \binom{n+1}{2} = \frac{n(n+1)}{2} (6.2)$$

Similarly, the sum of squares of first *n* natural numbers is obtained by substituting m = 2 in (6.1).

$$1^{2} + 2^{2} + \dots + n^{2} = \sum_{r=1}^{2} \binom{n+1}{r+1} r! S(2,r) = \binom{n+1}{2} S(2,1) + \binom{n+1}{3} \times 2! \times S(2,2)$$
$$= \binom{n+1}{2} + 2\binom{n+1}{3} = \frac{n(n+1)(2n+1)}{6} \quad (6.3)$$

For obtaining sum of cubes of first n natural numbers we consider m = 3 in (6.1) to get

$$1^{3} + 2^{3} + \dots + n^{3} = \sum_{r=1}^{3} \binom{n+1}{r+1} r! S(3,r) = \binom{n+1}{2} S(3,1) + \binom{n+1}{3} \times 2! \times S(3,2) + \binom{n+1}{4} \times 3! \times S(3,3)$$
$$= \binom{n+1}{2} + 6\binom{n+1}{3} + 6\binom{n+1}{4} = \left[\frac{n(n+1)}{2}\right]^{2} (6.4)$$

Equations (6.2), (6.3) and (6.4) provides the sum of first, second and third powers of first n natural numbers respectively. Similarly, we can determine the sum of higher powers of natural numbers as we wish.

Further as a bonus, from (5.1) of theorem 3, in the right hand side if we consider the coefficient of  $\binom{t+1}{n+1}$  namely n!S(m,n) provides the number of onto functions (surjectives) from a set with m

elements to *n* elements.

#### 7. Conclusion

By considering Stirling's numbers of second kind, in this paper, I had proved an interesting formula for finding sum of powers of natural numbers. Though there are several formulas that exist in determining the sum of powers of natural numbers, this paper introduces a new and not so well known formula in the form of closed expression established in (5.1) of theorem 3 in section 5. For this, I proved two theorems 1 and 2 in sections 3 and 4 respectively. As a bonus of proving theorem

3, we find the coefficient term of  $\binom{t+1}{n+1}$  namely n!S(m,n) provides the number of surjectives that

one can obtain between a set with *m* elements to a set with *n* elements provided  $m \ge n$ . If m < n then there would be no surjectives because from Figure 1 of Stirling's numbers of second kind, we find that S(m, n) = 0 if m < n.

Thus the expression derived in (5.1) of theorem 3 serves twofold purpose namely, it provides the sum of mth powers of natural numbers and it also provides the number of onto functions (surjectives) between a set with m elements to a set with n elements. These observations will add a new dimension to already known formulas for both the cases.

## REFERENCES

- [1]. V.S.Adamchik, On Stirling Numbers and Euler Sums, J. Comput. Appl. Math.79, 119-130, 1997.
- [2]. K.S. Kölbig, The complete Bell polynomials for certain arguments in terms of Stirling numbers of the first kind. J. Comput. Appl. Math. 51 (1994) 113-116.
- [3]. H.S. Wilf, The asymptotic behaviour of the Stirling numbers of the first kind. Journal of Combinatorial Theory, Series A, 64, 344-349, 1993.
- [4]. R. Sivaraman, Stirling's Numbers and Harmonic Numbers, Indian Journal of Natural Sciences, Volume 10, Issue 62, October 2020, pp. 27844 – 27847.

- [5]. R. Sivaraman, Stirling's Numbers and Matrices, Indian Journal of Natural Sciences, Paper Accepted and will be published in Volume 10, Issue 63, December 2020 issue.
- [6]. R.P. Stanley, Enumerative Combinatorics, Volume 1, Cambridge University Press, 1997.
- [7]. T. Mansour, Combinatorics of Set Partitions, CRC Press, 2013.
- [8]. D. I.A. Cohen, Basic Techniques of Combinatorial Theory, John Wiley & Sons, 1978.